EARAROBEEIERT — 2 N— IBISH —F

2014FE7H9H (k) 9EIEZHE2H

m%E‘ED YY1 E Cl12 5% (w8 | 1mEmml - |5 5 oo E
[AE£] 1% :135,000” ~ 2#&:25000M”  33#%&:10,000 M  4%&:6,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . N A IES 149. — . - AHES (BEHE)
ilglgl¥>van—t o4 Rz 0(4_9)4 6-3 35.6 3 (4:126) eI
R:TAIVKRTy a2 B:AO—XY 41—k #HET77—L4
. B4 | BiEFIHE 0:49.6 1-1 3.5 — 2 432 | /NERREBR (S212)
2 2| F—LT1E> 54.0 (1) (-4) &) H-2r7
LA LR—L B:xv NI ES Fo e
— NN NKE . - - Tikah— (BHE)
3 4| BTIAEAT it 4 A (g/\ts;? 2-1 36.4 1 (z:ifs) t(g) L ENE
L /INY R BiXxvyFIL-—X b7 N
N—4& # o9 | DIEERIE 0:49.7 56 (358 — | 4 | 450 |HEE (BAEE)
401101 4 56.0 1/2) 7) |BHLTR
LT R4 YXS Bdz vy —F ESstae]
S ANLA 4 5 | RFERFIAER 0:49.9 7-5 35.8| — 5 432 Woh— (BEE)
5177 JzlLANILYT 54,.»(*) (a1/2) (+2) (B) *K=X457
Rih—trHrx B:T7UL XX rONL BEZX &Y K
. o . [UHf=sEEc] :50. = . - tERBlE (BHE
6l5/5| &1 VN> L 54.0 0(15/02)0 e %4 : ?_3;) leﬁ%uz&
R:7RY4 ¥ vx> B:y—>7Ay b Eld=tie
(. FPITE : - — HEE (BHE)
7 NP PEEE R H o7 o 0.(5;).0 4-6 37.2 7 (4_423) HLE S
L:¥xrinqao— BTV EIXTTHF BB
¢ 3 4 5 | ZREELZ 0:52.9 8-8 38.0| — 8 437 | INERBSER (SEHR)
8 3 INTT &4 — 56.0 (9) 3 | @) x=2457
7174 5—T14>9 BiA—R42>3— 405
® I —F—@EBIERL
13—7—
23— —
30—7+— 2,4,5,6,1,8,7,3
43—F— (2,4),(5.,8),7,(1,6).3
[ RN
B OB 8 370 714K 2-8 100H B E 2-8 370/ &R 2-4-8 200M
8 B 8 100M 4-8 100F B H 8-2 780M JEH 8-2-4 1,450
2 1004 2-4 140H
4 1009

ABICOVWTRDTEEERROODE. TR LIV,




